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Skill Stretch 

Ratio 

1) What is the ratio of 
Wonka Bars to Bertie 
Bott’s Every Flavour 
Beans?

2) Simplify the following ratios: 
a) 4:10 
b) 9:15 

2) Homer Shares £40 between Bart and Lisa in 
the ratio 3: 5. How much do they each get? 

3) Superman and Spiderman take turns saving 
the world in the ratio of  4:3. There are 42 
disastrous events, how many times do they each 
save the world?

Frozen characters Elsa, Anna and Olaf 
have a snowball fight. They throw 
snowballs in the ratio 3:5:7.

Anna throws 45 snow balls. How many 
snow balls do Elsa and Olaf throw? 

To share ratio in to amounts, 
find the total amount of 
parts you have. 

Share £50 in the ratio 2:3.

£10 £10 £10 £10 £10:
£50 ÷ 5 = £10

£20:£30

Text a friend and write a clear 
set of instruction of how to find 
ratio’s of amount. 

Where in real life might you 
see the use of ratios? 
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